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20108 =04t LesIAH S22 ~ E20
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I‘IiH' CEA'%‘P\A—E'
& 2R X2 (&9 ®M
_ _ _ AT
A -3 -H2A(SH) - HEAMY - BES O AF K ioﬂ/lx_FOH Hlw &2
[e==3n 28,784,160 7,718,860 21,065,300
= 18,515,000
< 2,234,500
Al 8,034,660
S AL2e] 28,735,280 7,673,580 21,061,700
= 18,515,000
< 2,234,500
Al 7,985,780
SR 2,123,280 2,992,780 /869,500
SE2EH |2 1,305,580 1,184,080 121,500
201 LEH2HH| 65,980 44,930 21,000
01 AtR2teld] 18,980 18,980 0
Oz el o3| &AM 4=5(70,0002*14Y)
980,000& 980
OMEDIRAX2 o2t 22X 24|
5,000, 000& 5,000
OMSH (L )UHMI2RX =4H S
8,000,000& 8,000
OHME0IR 2 A2F FH| 5,000, 000& 5,000
02 3223l 47,000 26,000 21,000
OL2RXNEsZelBHI(XHE, MR, 2108
) S Xbl 20,000,000 20,000
O&lw & XNz, SeHXGHAE HMI[etd
Nl 4,000,000& 4,000
OJzs ZZLetE HA| 10,000,000& 10,000
OEa2M&e/AIAE RXE24Hl 3,000,000& 3,000
O=KMar2e] SR X 4,000,000 4,000
ODBI2AtE St E & S X 6,000,000& 6,000
203 ¥R =& 6,300 6,300 0
03 AMHMZ=XHSFAH 6,300 6,300 0
O ANMFNHRFAY| 6,300,000& 6,300
206 M= Hl 4,000 5,000 21,000
01 MZHl 4,000 5,000 A 1,000
OEZRNEx2AE LA2E(32, &L= JIER
WES)! 4,000,000& 4,000
401 AlEHIZL 20l 1,227,800 1,127,800 100,000
01 Al&HI 1,227,800 1,127,800 100,000
OFUSHAD T2AE X ¥ 24|
200,000, 000% 200,000
O s X&el(PooL2el) 1,027,800
- OlAERNRT|, E2ES
100, 000& *5,000m 500,000
-SZANHEE EX &€ RNES 200,000
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ol cRex s (Sl #)
_ _ _ Muo
SN -EHH . (B) - MPAY - BE2 0 Ak o4 il b o HRE2
IS, wEe, AL, Z2tE,
AAM, H2t S 100, 00021 %2, 000 200,000
- ASEXE 7R2el 250,000 *200H 2~ 50,000
- XBHRE 1HA, 22344 sX2L
3,000,000% ¥4 7H 2 12,000
- DPRNV(DSHLHY L 24)
,000,000& *307H 2 150,000
- REAT2RA B L BANLLR
3,000& *28,600m 85,800
- Sw0] £2 DM L A
300,000 *1009H £~ 30,000
405 XtobE SHI 1,500 0 1,500
01 T =SS FH SHI 1,500 0 1,500
oazd +¢ 1,000,000& 1,000
o=s3sJ71 #¢ 500,000 500
S23dl JI0I+ 91,000 81,000 10,000
201 =&l 1,000 1,000 0
02 2323l 1,000 1,000 0
ODEIZSSEZIIZDI(10) 1,000,008 1,000
401 Al&HI LSO 90,000 80,000 10,000
01 Al&HI 80,000 70,000 10,000
OE2ANE B 40,000
- OtAZ, AIBIE, ZAA S 40,000,000 40,000
OMEAES Rl AL 40,000,000& 40,000
03 Al& S CHl 10,000 10,000 0
OEZEHIALIIAH X2 10,000, 000& 10,000
C2xFHae 607,000 707,000 100,000
201 Let2d| 304,000 504,000 200,000
02 =234l 304,000 504,000 A200,000
OS2ETAIL B L SUIAN 248
300,000, 000! 300,000
OME0IRAX R X 22/ 4,000,000& 4,000
202 (4Hl 3,000 3,000 0
01 =AY 3,000 3,000 0
OMEDIA AR Ol 3,000,000& 3,000
401 Al&HIZL=ROHYI 300,000 200,000 100,000
01 AlEHI 300,000 200,000 100,000
OS2FZAIE ST 300,000, 000! 300,000
M&2tel 119,700 120,700 A 1,000
201 Let2E] 29,500 30,500 A 1,000
01 ALRelt] 7,000 8,000 A1,000
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SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
OM&ZY LR (NHIS) 7,000,000 7,000
02 BB 22,500 22,500 0
O&BHIIHNBZNSY L ATHD, SOHRIGHIE
ALSUGAAY)HIIE
1,500,0002 +30H 4 %54 2 22,500
206 THEH 86,600 86,600 0
01 el 86,600 86,600 0
SOHTHR K R (A3, 2, Y =0U) 86,600
-£3 8,0002! %10, 000% 80,000
-2 18,0008 200 ™ 3,600
- =0 15021 %20,000% 3,000
302 OIFLTHHBAS 3,600 3,600 0
02 I2HQITHoH 2 A S 3,600 3,600 0
OEH S MaXY 2a 180,000 +20CH 3,600
AT A2 el 508,000 708,000 200,000
AR TH A & 508,000 708,000 200,000
305 HHar2 s 508,000 708,000 200,000
01 IA2S 508,000 708,000 200,000
OFZ0IS3 B2 EXAEE 500,000,008 500,000
OS2 AL BIAS 8,000,0002 8,000
a2y 75 24,599,000 2,157,800 22,441,200
= 18,515,000
= 2,234,500
Al 3,849,500
FEHHRIE2 (S H-F ) 3,333,000 0 3,333,000
= 1,000,000
Al 2,333,000
401 N &HIL 20| 3,333,000 0 3,333,000
= 1,000,000
Al 2,333,000
01 Al&bl 3,313,000 0 3,313,000
ORCUAMRIEZ (SIF~F L 1B7)
3,313,000,0008! 3,313,000
= 994,000
Al 2,319,000
03 AlZ=Ht| 20,000 0 20,000
ORCUMRIEZ (SIF~F L 1B7)
20,000, 00084 20,000
= 6,000
Al 14,000
SEREXE Z| 16,000 14,800 1,200
= 8,000
Al 8,000
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SA B G(E) - NEAY - B 0l & o i HREZ
401 AlEHIL LT 6,000 14,800 1,200
= 8,000
Al 8,000
01 Al 16,000 14,800 1,200
OSZEXT H| 16,000, 0002 16,000
= 8,000
Al 8,000
235 RIEE He 900,000 0 900,000
401 AIEHIL 2T 900,000 0 900,000
01 Al&| 900,000 0 900,000
OREISH RET2IME (25H=)
900,000, 0002 900,000
BMEA-SH DA SR 7,000,000 0 7,000,000
= 7,000,000
401 AISHIL L] 7,000,000 0 7,000,000
= 7,000,000
01 Al 6,990,000 0 6,990,000
OBEA-SHDINL 2N
6,990,000, 0002 6,990,000
= 6,990,000
03 Al&=OHH] 10,000 0 10,000
OMFEA-SH DN S2HE 10,000,008 10,000
= 10,000
REN HBC2 Ha 1,510,000 0 1,510,000
= 755,000
= 226,500
Al 528,500
401 AISHIL L] 1,510,000 0 1,510,000
= 755,000
= 226,500
Al 528,500
01 Al 1,500,000 0 1,500,000
OMEYS AN HECZZ e
1,500,000, 0002 1,500,000
= 750,000
= 225,000
Al 525,000
03 Al& =0t 10,000 0 10,000
OMFY TIEN B2 W& 10,000,0002 10,000
= 5,000
= 1,500
Al 3,500
NIHSANSL-L BRI S2IHE 3,380,000 0 3,380,000
= 3,380,000
401 AISHIL L] 3,380,000 0 3,380,000
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ool ¥RE2Y 2= (25l &2
SA-EFH - SA(SAH) - MREAY - BES Off &F K %gi Hws2
= 3,380,000
01 Al&t| 3,375,000 0 3,375,000
OUHEANRL-L BRI CEHA
3,375,000,0002 3,375,000
= 3,375,000
03 Al& S CH| 5,000 0 5,000
OUHEANRL-L IR C2HA
5,000,000 5,000
= 5,000
BAICIY T2 OH 20,000 0 20,000
401 Al&HIL 2 O] 20,000 0 20,000
01 Al&t| 20,000 0 20,000
O2BAIEIY S2IH4 20,000, 0002 20,000
HY2 HFAY 3,000,000 0 3,000,000
= 3,000,000
401 AlZHIL 2O 3,000,000 0 3,000,000
= 3,000,000
01 Al&t] 2,995,000 0 2,995,000
OBFZ HEALL 2,995,000,000%! 2,995,000
= 2,995,000
03 Al&=CH| 5,000 0 5,000
OBFZ HIAL 5,000,000 5,000
= 5,000
AED-H D TRINE(ER1-315) 4,380,000 2,143,000 2,237,000
=2 3,380,000
= 1,000,000
401 AlZHIL 2O 4,380,000 2,143,000 2,237,000
= 3,380,000
= 1,000,000
01 Al&t] 4,373,521 2,143,000 2,230,521
OMAED~EAW T2NE(E2-315)
4,373,521,000%! 4,373,521
=2 3,375,000
= 998,521
03 Al& S CH| 6,479 0 6,479
OMAED~EAW T2NE(E2-315)
6,479,000 6,479
= 5,000
= 1,479
NEBHHSDSLR 1,000,000 0 1,000,000
= 1,000,000
401 AlZHIL 2O 1,000,000 0 1,000,000
= 1,000,000
01 Al& ] 995,000 0 995,000
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SA B HRA(SH) - MRAY - B 0l & o i HREZ
OUNEEHMEZ WA 995,000,000& 995,000
= 995,000
03 Al =R0HHl 5,000 0 5,000
(OFNFSE-N- FSE=IMIE F~ PN 5,000,000& 5,000
= 5,000
OtXt=cIOts &Y HE S A 60,000 0 60,000
401 Al &HIL 201 60,000 0 60,000
01 Al&HI 60,000 0 60,000
OOIR=2l 012 AR HEBA (AL H B
H & XNESS+2R) 60,000, 000& 60,000
C2E HHAY 500,000 800,000 A300,000
A0 2|2 A 500,000 0 500,000
401 Al&HIZL=ROHYI 500,000 0 500,000
01 Al&H| 500,000 0 500,000
OxRW el228d SA 500,000, 000& 500,000
S22 EXIHY 1,005,000 1,015,000 A 10,000
C2HY 022X MM 1,005,000 1,015,000 A 10,000
401 Al&HIZL=ROHYI 1,005,000 1,015,000 A 10,000
01 Al&H| 1,000,000 1,000,000 0
OS2HANZBNNL (ZHEII+42 &
ExT) 1,000,000,000& 1,000,000
03 AIE=20Hl 5,000 15,000 210,000
OEzHYDI=E8 XX =2l 04l 5,000,000 5,000
HY2AHU(Z2 1) 48,880 45,280 3,600
OIH2HH(E2 1) 4,200 3,000 1,200
PHMOIHB(E2 1) 4,200 3,000 1,200
203 R4l 4,200 3,000 1,200
04 FN2ILRFAHI 4,200 3,000 1,200
O A 222 2RI (2021013})
350,000& «12& 4,200
Jl2ZHl(=2m) 44,680 42,280 2,400
Jl2Zu(E21) 44,680 42,280 2,400
201 Let2IH| 13,960 15,400 A1,440
01 AtSR22/Hl 12,960 14,400 A 1,440
ORMZZE AtR2teld] 12,960,000& 12,960
02 2323l 1,000 1,000 0
Osmttsz 1,000,000& 1,000
202 (4Hl 30,720 26,880 3,840
01 =LA b 30,720 26,880 3,840
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